Fake rate vs dxypv [ Duplicates Rate vs Dxy(PV) ] Pileup rate vs dxy(PV)

S 0.01 S 0.05 < 0.0%
o o o E o
$h.000F- $h.009F- $.000F
x E X E X F
.008F #.008F .008F
> E > E > E
2.007F 2 .007F 9 .007f
%.0065— @.006F %.0065—
0.005f $.005F 2.005fF
E [=% E E
0.004F 2.004F 0.004F
0.003F 0.003F 0.003f-
0.002F 0.002F 0.002f
0.00 0.00 0.00
. o WA o o
I : I I
@ : : : o '
05 -k 05
HE : 05 .
S -i5-i0 5 0 5 10 15 20 E 50 5 10 15 20 0 -i5-10 -5 0 5 10 15 20
. track dxy(PV) (cm) . _ track dxy(PV) (cm) track dxy(PV) (cm)
— —QTTOT y T ~ravy
=0 L
— b BET —S16R2—]
[Fakerate vs d| ——— —piXelCPETEémplateCu —Step2—]|
S 0.01 s = — < 0.0I¢
o E o - . . E
$.000F = : : $.000F
5 g f : : =
@.008F o ogb--a--- i i D.008F
> o > =5 . . > E
%}.0075— % : %.0075—
%1.006;— FEX: ST SRR EPP P PR R %.006;—
0.005F g [+ ¢+ oo 2.005F
E =1 [ . . . : : . E
0.004F 3 0.4 b : 0.004F
0.003F L : : 0.003f
0.002F- 0.2+ i : 0.002F
0001 R TR 0001
o QF P B A o O
T T : T
o @ @
b i o5k
DBE=06-04-02 0 02 04 06 08 OB =06-04-02 0 02 04 06 0.8 DE=0604-02 0 02 04 06 08
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)

Fake rate vs dzpv [ Duplicates Rate vs Dz(PV) | Pileup rate vs dz(PV)
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Fake rate vs dzpv [ Duplicates Rate vs Dz(PV) ] Pileup rate vs dz(PV)
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